Mini-Quiz 5
Past Simple vs Past Progressive; Used to & Would

1. Regular and irregular verbs are used to form . (1 point)
a. Usedto
b. Past Simple
c. Past progressive

2. He was work last night is a correct sentence. True/False (1 point)

3. Match the use to the tense: (3 points)
Past Simple a. completed actions that happened one after
the other in the past
b. activities that started and finished in the past
c. background activities
Past Progressive d. ongoing activities in the past interrupted by
a sudden event
e. completed action in the past
f. past habits or repeated actions in the past

4. We use used to describe a (mark ALL that apply) (1 point)
a. present habit b. past habit
c. temporary past state  d. permanent past state

5. When we talk about we can interchange used to with would. (mark ALL that
apply) (2 points)

a. past habits

b. past actions

c. past state/condition

6. My grandmother would always to wake me up at 6 am in the morning is a correct
sentence. True/False (1 point)

7. My dad didn’t used to drive me to school when | was a child is a correct sentence.
True/False (1 point)
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